
 

1. Make a 5 point sketch of the function 𝑦 = 2௫, labelling appropriately. Then sketch the 
inverse. State the equation of the inverse. 

2. Evaluate 

a. ଷషభ

ଶషభ
 

b. 3ିଵ − 2ିଵ 

c. ൫ଷೣషమ൯൫ଽೣశర൯

(ଶ଻ೣషభ)
 

3. Simplify 

a. ௞ఱ÷௞షర

௞ఱ×௞షర
 

b. ଼ଵ௫య௬ర

ଶ଻௫షమ௬య
×

൫ଽ௫௬మ൯
మ

ଵ଺ଶ௫ర௬ర
 

c. 𝑠ଶ௫ି௣ ÷ 𝑠௣ି௫ 

4. For the function 𝑦 = logଵ଴ 𝑥 state 
a. The domain 
b. The range 
c. The x-intercept 
d. Whether or not it is a function 
e. sketch the function, labelling appropriately 

5. Evaluate 
a. logଶ 32 
b. logହ 1 
c. logଷ 9

ସ 
d. log 10 
e. log 0.001 

f. logଶ(0.5)
ଷ 

g. logହ 25√5 + logଶ଻ 9 
h. 4୪୭୥ర ଻ 

6. Express 2 logହ 𝑥 + logହ 𝑦 − 4 logହ 𝑧 as a single logarithm. 
7. Solve for 𝑥: 

a. log௫ 9 = 2 

b. logହ ቀ
ଵ

ଵଶହ
ቁ = 𝑥 

c. logଷ 𝑥 = −3 
d. 𝑥 logଶ 8 = 3 
e. logଷ 𝑥 = logଷ 54 − logଷ 2 

8. Solve and verify logଵ଴(𝑥 − 2) + logଵ଴(𝑥 + 1) = 1 
9. Solve using logarithms 

a. 𝑥
మ

ఱ = 24 to 1 decimal place 
b. 5ଶ௫ = 24 to 3 decimal places 

10. Given the formula 𝐴 = 𝑃(1 + 𝑖)௡ where 𝐴 is amount, 𝑃 is principal, 𝑖 is interest rate per 
period, and 𝑛 is the number of interest periods, find the number of years it takes for 
$35000 to triple in value at 8% compounded semi-annually. 

11. The number of cells in a culture grows according to the formula 𝐴 = 2500ቀ10
೟

ఱቁ where 𝐴 

is the number of cells after time 𝑡 in seconds. How long will it take the number of cells 
to grow to 8.2 × 10଻? 


